
C1|1 ∞ÈC

quant /Geodα/ Toep / Weyl()
DG

��

�|C
1|1

ωÈC

allg
00_+ ζ

10_+
−
ζ

01_+
−
ζζ

11_
D G

=
a

00_
DG

+ α
11_
DG

b
01_
DG

c
10_
DG

d
00_
DG

+ δ
11_
DG



00_+ ζ
10_+

−
ζ

01_+
−
ζζ

11_
D G

=
(1− α) ν

00_
DG

+
11_
DG

(1− α)
01_
DG

(1− α) ν
10_
DG

(1− α) ν
00_
DG

+ α
11_
DG

z|ζ

_
DG

_
XZ

=

C1|0∫
d
2
w/π

C0|1∫
d
2
η

w|η_
z|ζ

w|η
D G

_
X Z

=

C1|0∫
d
2
w/π

C0|1∫
d
2
η

z − w|ζ − ηe(1 − α) ν
w|η w|η_

αz + (1 − α) w|αζ + (1 − α) η_

=

C1|0∫
d
2
w/π

z − weν (1 − α)
w

C0|1∫
d
2
η

ζ − ηe(1 − α) ν
η

00
w_+ η

10
w_+

−
η

01
w_+

−
ηη

11
w_

Y [

αz + (1 − α) w

0_+ αζ + (1− α) η
X Zαz + (1 − α) w

1_
Y [

=

C1|0∫
d
2
w/π

z − weν (1 − α)
w

C0|1∫
d
2
η

1 + (1− α) ν
(
ζ
−
η +

−
ηη

)
Y [

00
w_+ η

10
w_+

−
η

01
w_+

−
ηη

11
w_

Y [

αz + (1 − α) w

0_+ αζ
αz + (1 − α) w

1_+ (1− α) η
αz + (1 − α) w

1_
Y [

=

C1|0∫
d
2
w/π

z − weν (1 − α)
w



(1− α) ν
00
w_

αz + (1 − α) w

0_+ αζ
αz + (1 − α) w

1_+ (1− α) ζ
αz + (1 − α) w

1_
Y [

+ (1− α) ν
10
w_

αz + (1 − α) w

0_+ αζ
αz + (1 − α) w

1_
Y [

+ (1− α)
01
w_

αz + (1 − α) w

1_
+

11
w_

αz + (1 − α) w

0_+ αζ
αz + (1 − α) w

1_
Y [

= (1− α)

z

01_
DG

1_
X Z

+

z

11_
DG

0_
X Z

+ αζ

z

11_
DG

1_
X Z

+ (1− α)
2
νζ

z

00_
DG

1_
X Z

+ (1− α) νζ

z

10_
DG

0_
X Z

+ (1− α) ν

z

00_
DG

0_
X Z

+ (1− α) ανζ

z

00_
DG

1_
X Z



_
DG glob

Toep
=

ν
00_
DG

+
11_
DG

01_
DG

ν
10_
DG

ν
00_
DG

z|ζ

_
DG

_
XZ

=

C1|0∫
d
2
w/π

C0|1∫
d
2
η

w|η_
z|ζ

w|η
D G

_
X Z

=

C1|0∫
d
2
w/π

C0|1∫
d
2
η

z − w|ζ − ηeν
w|η w|η_

w|η_

=

C1|0∫
d
2
w/π

z − weν
w

C0|1∫
d
2
η

ζ − ηeν
η

00
w_+ η

10
w_+

−
η

01
w_+

−
ηη

11
w_

Y [

w

0_+ η
w

1_
Y [

=

C1|0∫
d
2
w/π

z − weν
w

C0|1∫
d
2
η

1 + νζ
−
η + ν

−
ηη

Y [

00
w_+ η

10
w_+

−
η

01
w_+

−
ηη

11
w_

Y [

w

0_+ η
w

1_
Y [

=

C1|0∫
d
2
w/π

z − weν
w

01
w_

w

1_ +
11
w_

w

0_ + νζ
00
w_

w

1_+
10
w_

w

0_
Y [

+ ν
00
w_

w

0_

=

z

01_
DG

1_
X Z

+

z

11_
DG

0_
X Z

+ νζ

z

00_
DG

1_
X Z

+

z

10_
DG

0_
X Z

Y [

+ ν

z

00_
DG

0_
X Z

�

z

\
DG

\
XZ

=

C∫
ν d

2
w/π

z − weν
w w\

w\

w|ω
_\
XZ

=
00_+ ω

10_+
−
ω

01_+ ω
−
ω

11_
X Z

0_+ ω1_
Y [

=
00_ 0_ + ω

00_1_+
10_0\

X Z

+
−
ω

01_ 0_ + ω
−
ω

11_0_−
01_1_

X Z

�

z|ζ

_
DG

_
XZ

=
z|ζ
Pν (__)
X Z

=
z

P ν
00_0_

X Z

+ ζ
z

P ν
00_1_+

10_0_
Y [

X Z

− 1

ν

z

P ν
11_0_−

01_1_
Y [

X Z

=

z

00_
DG

0_
X Z

− 1

ν

z

11_
DG

0_
X Z

+
1

ν

z

01_
DG

1_
X Z

+ ζ

z

10_
DG

0_
X Z

+ ζ

z

00_
DG

1_
X Z



00_+ ζ
10_+

−
ζ

01_+
−
ζζ

11_
D G

glob

Weyl
=

2ν
00_
DG

+
11_
DG

2
01_
DG

2ν
10_
DG

2ν
00_
DG

− 11_
DG

z|ζ

_
DG

_
XZ

=

C1|0∫
d
2
w/π

C0|1∫
d
2
η

w|η_
z|ζ

w|η
D G

_
X Z

=

C1|0∫
d
2
w/π

C0|1∫
d
2
η

z − w|ζ − ωe2ν
w|η w|η_

2w − z
η
| − ζ_

=

C1|0∫
d
2
w/π

z − we2ν
w

C0|1∫
d
2
η

ζ − ηe2ν
η

00
w_+ η

10
w_+

−
η

01
w_+

−
ηη

11
w_

Y [

2w − z

0_+ 2η − ζ
X Z2w − z

1_
Y [

=

C1|0∫
d
2
w/π

z − we2ν
w

C0|1∫
d
2
η

1 + 2νζ
−
η + 2ν

−
ηη

Y [

00
w_+ η

10
w_+

−
η

01
w_+

−
ηη

11
w_

Y [

2w − z

0_− ζ
2w − z

1_+ 2η
2w − z

1_
Y [

=

C1|0∫
d
2
w/π

z − we2ν
w



2ν
00
w_

2w − z

0_− ζ
2w − z

1_+ 2ζ
2w − z

1_
Y [

2νζ
10
w_

2w − z

0_− ζ
2w − z

1_
Y [

2
01
w_

2w − z

1_
11
w_

2w − z

0_− ζ
2w − z

1_
Y [

=

C1|0∫
d
2
w/π

z − we2ν
w

11
w_+ 2ν

00
w_

Y [

2w − z

0_+ ζ2ν
10
w_

2w − z

0_+ 2
01
w_

2w − z

1_+ ζ 2ν
00
w_−

11
w_

Y [

2w − z

1_
X Z

=

C1|0∫
d
2
w/π

z − we2ν
w

11
w_+ 2ν

00
w_

Y [

2w − z

0_ + 2

C1|0∫
d
2
w/π

z − we2ν
w

01
w_

2w − z

1_

+2νζ

C1|0∫
d
2
w/π

z − we2ν
w

10
w_

2w − z

0_ + ζ

C1|0∫
d
2
w/π

z − we2ν
w 2ν

00
w_−

11
w_

Y [

2w − z

1_

=

z

11_+ 2ν
00_

D G

0_
X Z

+ 2

z

01_
DG

1_
X Z

+ 2νζ

z

10_
DG

0_
X Z

+ 2νζ

z

00_− 11_
D G

1_
X Z

�

z

\
DG

\
XZ

=

C∫
d
2
w/π

z − we2ν
w w\

2w − z\


